==
N = 0] &F AF S & AN A
20148 20 A BEIZAILELSH AAM
SN BALED
Hz: HIIS I
el HA HI(BAIZANLSLHEH) (ol @)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
AT 15,523,788 12,749,431 2,774,357
= 4,681,500
< 383,900
= 10,458,388
HoIZ2 X3 2,864,481 2,682,343 182,138
= 281,500
< 11,900
= 2,571,081
A HE(SHHIZANEELESH) 692,321 591,163 101, 158
= 281,500
= 11,900
= 398,921
Holg2 M2l A& 137,778 134,020 3,758
201 et 42,040 32,880 9,160
01 AP 2t 2| bl 42,040 32,880 9,160
Ogbt4=24| 18,280
— MYl Dl BH=S QLY & 150, 000& *30H 2~ 4,500
— MYD| s EE2 1,500 2, 0000H 3,000
—HIJIEHE 22Xe =42
5,000 »400CH 2,000
— MDD EYED SXNHEZ 2HT
150, 000& 200 A 3,000
—CCTVE = =82 OHUNE, M EOHA, CHEE
A2 900
—XN&EHII=S /e A 1,500
— T2l dAAALADS 350,000 «3CH 23] 2,100
— SXOAIE OtM Y| 1,280
OSgdl(HIIS=Hx) 7,000€ 12 x40 3,360
Oltsdzgdssd HUL(EHX, L=
1,300,000 x4 x2JH &4 10,400
O™ £HBA JEIX 2L 10,000
206 M = dl 75,738 73,140 2,598
01 X2 H| 75,738 73,140 2,598
OMYIISE HE 48,338
OFA A 23 250,000 x123] 3,000
OSAZHIIZE 838+ HED] 35,000& * 1504 5,250
O8=x24+HE 2,000
OHAZ2R4+HE 300,000 =104 3,000
OMeE 2288 500,000 x5J4 2,500
O=0ty 2,000 x50074 1,000
ONgzsselddg 222 00 (40kg,500ke 2 )
5,000 »6800H 3,400
OMESH S HE MBS (AMHS)
35,000& 70 2,450




5 o d
SN P SA(EN) - MBAY - BES e HlDE2
SEEEEIEES) 2,000
ORNUEE AANE 5,000 *4021 23| 400
omgsydes 7 1208 x20, 0000H 2,400
307 @I2¢0l & 4,000 3,000 1,000
05 2I2He &3 4,000 3,000 1,000
OBzt +{H2l 4,000
401 Al HI Y = T 16,000 25,000 £9,000
01 A& 16,000 25,000 A9,000
OANSorE o SHTHOIE 2AIH02H £
5,000,000 <274 2= 10,000
OHMENE Msl+ZAE &X 6,000
WEEE +8 o HD 51,000 41,000 10,000
101 124l 4,000 4,000 0
04 JIZHZ2RSE S 4,000 4,000 0
OSEYR HsD HEHOIE +H 4,000
-3 38,0002 =2 40 3,040
e 38,0002 *22 x8 608
—dNEEE 352
201 Lot | 6.000 6.000 0
01 At el 6,000 6.000 0
OSUYR HESIIH % HEHIIS =H X
600,000 10 6,000
301 LetE A3 41,000 31,000 10,000
11 JIEH 243 41,000 31,000 10,000
oMgas +a=H2 20,000
ORU4+T WEEE 243 10,000
OMEEE +3 2488 A4S 1,000
Osoely 28 243 10,000
HHlY 0124 66,400 54,000 12,400
= 7,500
= 11,900
=2 47,000
301 LErP A3 66,400 54,000 12,400
= 7,500
< 11,900
2 47,000
11 JIE 2 43 66,400 54,000 12,400
OHHIY #7124 802 *830,000ke 66,400
= 7,500
= 11,900
= 47,000
Sta o St M Il Hal 357,143 357,143 0




SN BALED
M HolE XFE
tel: A HIY(BZIZAMNLESEIA) (Sl & &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 250,000
s 107,143
101 @144 dl 35,143 35,143 0
= 25,000
i 10,143
4 JI12ZtHZ22HEE =+ 35,143 35,143 0
OotReY R4 =H elAt| 35,143
2 25,000
s 10,143
201 Let24d] 87,000 87,000 0
= 61,000
i 26,000
01 At 22l 87,000 87,000 0
OB TRY BRMYI 2N Y
261,000& x3003! 78,300
= 55,000
s 23,300
Oot72RY 2RXYI =HEE 8,700
2 6,000
[ia 2,700
401 A& HIZ 201 8] 235,000 235,000 0
= 164,000
i 71,000
01 A& HI 235,000 235,000 0
Oot7R MgI| A=Kl (1000€)
235,000,000& 14 235,000
= 164,000
[ia 71,000
SsHUY TotE 80,000 0 80,000
2 24,000
e 56,000
401 Al HI L 2 THHI 80,000 0 80,000
2 24,000
fia 56,000
01 A& HI 80,000 0 80,000
Od=sHbE &dot¥ 1691 2~ +5,000,000& 80,000
= 24,000
s 56,000
HII2 MelAs 2 (2ZIEALSLE ) 2,172,160 2,091,180 80,980
HIISXM2AlE 2el 542,320 437,680 104,640
201 Let2d] 373,820 379,180 25,360
01 At 22l 35,280 66,880 A 31,600
Oget==&H| 35,280
—HES S2TAMNTHES)
340,000& *123] *304 & 12,240




A R == R
M HolE XFE
¢l HIIE MelAd 2 (BHIZALEEE3AH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
—HE+ g+ (HER)
340,000 x123] 101 & 4,080
— XI5t== (2404 & =) 180,000& *42] x40 2~ 2,880
— ol (25MEs) 320,000 *43| *20H & 2,560
—OHEZE HI2U EINZA(IIHL) 1,000
—HEE E2228 ST A
4,000, 000% *24 & 8,000
—HEE WEIA AN
300,000 *20H £ 600
—SASMYIIMAAE FHINZA(IHL)
2,000,000 * 18] 101 A& 2,000
—HEd RUHFHEY 1,920
02 =224l 338,540 312,300 26,240
03323 2 HA 308,100
—dojetE el 84 40,000,000& =13l 40,000
— &It EZAL 3 300,000& x123| 3,600
—& - otxE AERZ 1,000,000& 122 12,000
—ES3ZNERE = 250,000 »23| 500
—MEHEANEU IS (5MHA)
21,000,000& 128 252,000
OA&ZEHl S X bl 30,440
—HEdE A=S A 3,000,000& *3H A 9,000
—MHEBESHEE S 2,000, 000& 13 2,000
—&E&4 M2AE Xl
5,000, 000% * 14 & 5,000
— SAZ2 M2AE KXl
7,000,000 » 104 2~ 7,000
—HJlIS2e dAZH S 2
120,000 128 1,440
—MBTE X 2IAlE |RAHl  6,000,000& 14 & 6,000
206 M= Hl 6,000 6,000 0
01 =8l 6,000 6,000 0
OEd gIAxF 500,000 x635 3,000
OME & JtAZE 2 50,000& =404 2,000
OHEXNE A= - AHMHM , R U=
100,000& 102 A 1,000
207 Ao & H| 20,000 50,000 30,000
01 2284 20,000 50,000 230,000
OdEHII= =828 HAHI 20,000
401 Al& B2 28I 140,000 0 140,000
01 A& HI 140,000 0 140,000
OXNE=gE MBY &5 140,000
405 TtHakF S| 2,500 2,500 0




SA HHACD
M HIls NSt
Sl HIIZ2 HeAE SE(HAINEZALSEN) (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
01 JHAHE 2 Z 5 S H 2,500 2,500 0
OASRA (H24) oA 2,500
HAXNE WA 2 X2 189,840 253,500 AN 63,660
201 Bt A H| 189,840 168,000 21,840
02 332494l 189,840 168,000 21,840
OIS 22 500,000 x16CH x12& 96,000
OFAXY A B 400,000 ~160CH x12& 76,800
O=EZ2 2N 78 500,000& =2CH x12& 12,000
Ooz24d 8% 420,000€ x12& 5,040
HIIES M2lAlE 22t & 1,440,000 1,400,000 40,000
307 QI2t01 ™ 1,440,000 1,400,000 40,000
05 A2t E = 1,440,000 1,400,000 40,000
OSAIE8 HIIS4+HSUYHLAE (EEs4E 550,000
OMBTAIE 2 <& 850,000, 000& » 14! 850,000
OMY Il HHEXNE HEA 40,000
ol 22 11,417,900 8,861,900 2,556,000
= 4,400,000
& 372,000
- 6,645,900
Sl &H 2 SA(EHIZALELSAH) 3,954,000 1,829,000 2,125,000
= 2,663,000
= 1,291,000
ot=2tH HH € =4 150,000 150,000 0
401 Al HI L 2 0HHI 150,000 150,000 0
01 A& HI 150,000 150,000 0
Ol ot S dt=2H F| 150,000
St AHAZH (Ll SH2H ) 3,804,000 1,679,000 2,125,000
= 2,663,000
iy 1,141,000
401 AIEHIL 20| 3,804,000 1,679,000 2,125,000
= 2,663,000
iy 1,141,000
01 A& Hl 3,514,000 1,386,080 2,127,920
Hole ot H JHl 3,514,000
= 2,460,000
= 1,054,000
02 Zeldl 280,000 287,920 ANT,920
golls ot=2tH &bl 280,000
= 196,000
= 84,000
03 Al& 201 I 10,000 5,000 5,000
oddlg oat=2tH Al 10,000




SA HHACD
M ot 2
& St A ¥ SA(SHEIZAIESESIA) (&)
L=
SA - BB B () - MM - BES Ol &t o San HmEET
= 7,000
s 3,000
SHENSoI+=S T (BB ZANESLESA) 2,481,000 1,428,000 1,053,000
= 1,737,000
< 372,000
s 372,000
Zd0Sot=HM2E &X 714,000 0 714,000
= 500,000
= 107,000
s 107,000
401 Al HIZ 201 Y] 714,000 0 714,000
= 500,000
S 107,000
s 107,000
01 A& HI 714,000 0 714,000
OZ&0tSotsHMel & (50E/Y) 714,000
= 500,000
< 107,000
[ia 107,000
gaitsdts=xeld 4X 1,520,000 714,000 806,000
= 1,064,000
< 228,000
[ia 228,000
401 AIEHI L 2 CHYI 1,520,000 714,000 806,000
= 1,064,000
< 228,000
[ia 228,000
01 A& HI 1,115,000 714,000 401,000
OggirSot el & (2008/g) 1,115,000
= 780,500
< 167,250
i 167,250
02 Zteltl 400,000 0 400,000
OgstorSstaxel & (200€/2) 400,000
= 280,000
< 60,000
s 60,000
03 A2 2 0HHI 5,000 0 5,000
gatirSots Ml & (2008/g) 5,000
= 3,500
< 750
s 750
2d0E ot=& &X 247,000 714,000 A 467,000
= 173,000
< 37,000
s 37,000
401 Al HIZ 201 Y] 247,000 714,000 A 467,000




2N BHExZD
HE: 54c 2el
S SHE0ISoI:=S AU (E#HIZAEESESH) (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 173,000
< 37,000
= 37,000
01 Al& H| 142,000 714,000 A572,000
O{ADIE Sl=Hel® &X(1508/Y) 142,000
2 99,500
= 21,250
= 21,250
02 2teld| 100,000 0 100,000
OfAOIES ot=Hel& AX(150E/Y) 100,000
= 70,000
= 15,000
= 15,000
03 A& E2HH| 5,000 0 5,000
OA0E Sl=Hel® &X(1508/Y) 5,000
2 3,500
& 750
= 750
SHAD|IZ AL 22 - 2H(SHHIANEELESAH) 4,982,900 4,132,900 850,000
EStEIIZANE 2 502,900 482,900 20,000
201 et d| 502,900 482,900 20,000
01 AP 2t 2| bl 16,600 23,000 AN6,400
Ogbt4=24| 3,000
OZL=ZTMSHE = & At 4,000,000 *1JH0 & 4,000
OBQLAIAE Al22 200,000 401 2~ ~12& 9,600
02 2=2=24%4| 486,300 459,900 26,400
O2322 % HA 486,300
—olxXeld JIR=2 37,200,000 x12& 446,400
— SN2 50,000 3 A %23 300
—MI|etM 22| HE S 100,000 70 A« 12 8,400
— ot & 3| 2,400,000 *13] 2,400
— SEZA QHY AIEE
200,000 * 120 A~ x12& 28,800
BAINZAL B 750,000 100,000 650,000
207 I & 750,000 100,000 650,000
01 g E Y| 750,000 100,000 650,000
Oodtx=CFZHIJI2HE 24 750,000
SHIZALE ER2A 3,068,000 2,888,000 180,000
307 QI2t0| ™ 3,068,000 2,888,000 180,000
05 QIZtREZ 3,068,000 2,888,000 180,000
OQEAEIIEZAE 22 89 LIt E 3,068,000
SAINZAE N 662,000 662,000 0




SA HHACD
B slas B2
el BAIIEAL Bel - SF(RIIEZALSHIH) (el @)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
401 Al HI L 2 0HHI 662,000 662,000 0
01 A& HI 662,000 662,000 0
OXadt+=H=Il &X 120, 000& = 1004 12,000
OdtE=Xel & HA 300,000
OsAHAXNKXelAlE 300,000
OEIIE=ANE W 4N 01N 50,000
HESHALH (P W) 1,241,407 1,205, 188 36,219
QlaA2dY|(BFHI|IZAEELESH) 1,241,407 1,205, 188 36,219
A& E=gae oE=29| 1,241,407 1,205, 188 36,219
101 @121 | 1,241,407 1,205, 188 36,219
03 I L2 XHE % 1,241,407 1,205, 188 36,219
oJIs3 1,700,000%26H x12& 530,400
O E=] 271,493
—J| G 1,900, 000& *26H *4 3| *50% 98,800
—&d2Y 1,900,000 x26H *23| *50% 49,400
— Ml & S&E gl 1,896,810 x26H *x53| *50% 123,293
(OFSRLESS= 93,600
—Jts4 80,0003 x26H x12& 24,960
—Exg2g 120,000& 26 H x12& 37,440
-8+ 30,000& x26H x12& 9,360
— ALY 70,000 x26H x 128 21,840
OXESHBEXLE(DSsHM)
267,000%5Y x4 3| 5,340
Oz 219,284
—AZ2t224
12,000& *26H *15A] 2t x 128 56,160
— 54224 93,0003 x26H x4 x12& 116,064
— xR asEIIEY 90,500& 26 20 47,060
O=cl &Ml 109,200
— HHZAH| 160,000 »26H x12& 49,920
— 9 ZE S| 1,900, 000%26 X 23] *60% 59,280
OO0l 200,000 x26H 5,200
o=l 6,890
— &5t 50,000& 26 23| 2,600
— &S 50,000 26 H x23| 2,600
— gste 40,000& *26H 1,040
— Ot 29| 25,000) x26H 650




